Sample Paper – 2008
Class – XII
Subject – Accountancy

General instructions:
(i) All parts of questions should be attempted at one place.

(ii) This question paper contains two parts A and B.

Part A(Partnership and Company Accounts)

1.State one difference between Profitable organization and Non- profitable organization.                                                                   (1)

2.State one condition of issuing share at discount.                          (1)

3. List two factors affecting goodwill of a partnership firm.           (1)

4. What is the meaning of gaining ratio?                                          (1)

5.what is meant by deep discount bond?                                           (1)

6.On the basis of the following information calculate the amount of stationery to be shown in Income and Expenditure Account for the year ended 31st march 2007                                                           . (3)                     

	Particulars
	Amounts(Rs)

	Stock of stationery on 1.4.2006
	50,000

	Stock of stationery  on 31.3.2007
	40,000

	Amount paid for stationery during the year
	2,00,000

	Creditors for stationery on 1.4.2006
	20,000

	Creditors for stationery on 31.3.2007
	10,000


7.Vijaya Ltd. acquired assets of Rs.40 lakhs and took over liabilities of Rs.4 lakhs from Sunil Enterprises.Vijaya Ltd issued 12% Debentures of Rs100\- each at a discount of 10% as purchase considerations. Record necessary journal entries in the books of Vijaya Ltd.                       (3)

8. 20,000 shares of Rs.10 each were issued for public subscriptions at a premium of 10%. Full amount was payable on application. Applications were received for 30,000 shares and the board decided to allot the shares on a pro-rata basis. Pass necessary journal entries.               (3) 

9. Sneha, Ami and Nisha shared profits in 2:2:1 ratio.Their capitals were fixed RS.1,50,000, Rs 2,00,000 and Rs.50,000. During the year 2006, the interest on capital was credited to them @9% instead of 10%. Give an adjustment entry to rectify the error.                                      (4)

10. (a) What is meant by Revaluation Account?                                 (1)

(b) X and Y are partners in a firm sharing profits and losses in the ratio of 2:1.From 1st April 2007 they agreed to share profits and losses equally. The different assets are to be revalued as follows:

1. Land: Balance sheet value------Rs.2, 00,000, Agreed value----- Rs.2, 50,000

2. Building: Balance sheet value-----Rs.4, 00,000. Agreed value----Rs.6,00,000

3. Plant Machinery value ------Rs.2, 00,000         Agreed value---Rs1, 30,000

         Pass necessary journal entries to give the effect above.             (4)

11. Sahil Ltd had issued shares of Rs.100 each at a discount of 5%, payable as follows:

               On application           Rs 25 per share

               On allotment              Rs. 25 per share

               On Ist and Final call      balance

One shareholder, Pran holding 50 shares did not pay his Ist and final call. As a result his shares were forfeited.

Of these 40 shares were reissued to Ram as fully paid up @Rs.110 per share.

Pass necessary journal entries to record the forfeiture and reissue of shares in the books of Sahil Ltd.                                                       (4)

12.(a)  Trupti Ltd has 5,000 8% Debentures of Rs.100 each due for redemption on march 31,2007.Assume that Debentures Redemption Reserve has a balance of Rs.1,90,000 on that date . Record necessary entries at the time of redemption of debentures.

(b)On January 1,2004, Shyam Ltd issued 1,000 10% debentures of Rs.500 each at par. Debentures are redeemable after 7 years. However, the company gave an option to debenture holders to get their debentures converted in to equity shares of Rs.100 each at a premium of Rs.25 per share anytime after the expiry of one year.

Mr Garg, holder of 400 debentures informed on jan. 1, 2006 that he wanted to exercise the option of conversion of debentures into equity shares.

The company accepted his request and converted debentures into equity shares.

Pass necessary journal entries to record the issue of debentures on jan.1, 2004andconversiononjan.1, and 2006.                            (3+3)                                                    

13. The following is the Receipts and Payments Account of Pattnaik Super Time Club for the year ended 31st Dec, 1992:

Receipt and Payments Account

	Receipts
	
	Payments
	

	To cash in hand
	10,000
	By bank overdraft (1.1.1992)
	14,000

	To subscriptions:

1991-----1,200

1992------64,800

1993-----600
	66,600
	By Investment
	13,600

	To entrance fees
	2,680
	By Furniture
	5,960

	To proceeds from drama
	8,160
	By salaries
	20,400

	To interest from securities
	2,000
	By Printing &stationery
	3,560

	To sale proceeds from old furniture (cost Rs 320)
	400
	By Posatage&telegrams
	4,400

	
	
	By Cost of drama
	7,000

	
	
	By Sundry expenses
	5,600

	
	
	By Balance:

Cash in hand

Cash at bank
	3,320

12,000

	
	89,840
	
	89,840


You are required to compile the Income and expenditure Account for the year ended 31st Dec.1992 and the Balance sheet as on that date after taking into account the following information:

(i) On Ist Jan.1992 the club premises stood at Rs.1, 00,000, Investment at Rs.24, 000 and Furniture at Rs.12, 000.

(ii) The club had 720 members each paying an annual subscription of Rs.100

(iii) Salaries for December 1992 amounting to Rs.1, 600 are outstanding.

(iv) Half of entrance fees are to be capitalized.

(v) Stock of stationery on 31st Dec.1991, was Rs.360 and on 31st Dec.1992, was Rs.400.                                                    (6)

14.Kesha, Bhoomi and Rajni were partners sharing profits and losses in the ratio of 4:3:2. On 31st December 2001 their balance sheet stood as follows:     (6)

	Liabities
	
	Assets
	

	Creditors
	4,000
	Goodwill
	3,600

	General reserve
	9,000
	Plant & machinery
	14,000

	Capitals

Kesha—10,000

Bhoomi---9,000

Rajni------7,000


	26,000


	Stock
	4,000

	
	
	Sundry debtors
	6,000

	
	
	Cash at bank
	11,400

	
	39,000
	
	39,000


Bhoomi died on 14.03.2002. According to the partnership deed executor of a deceased partner was entitled to:

(i) Balance of the partner’s capital A\c and her share of the accumulated reserves

(ii) Interest on capital @5%p.a

(iii) Share of goodwill calculated on the basis of twice the average profits of the last three completed years.

(iv) Share of profits from the closure of the last accounting year till the date of death on the basis of the average of profits of the 3 completed years before death.

Rs.5, 000 was to be paid to Bhoomi’s executor and the balance due to him was to be kept in his loan account. Profits for the four years are

1998 Rs.8, 000

1999 Rs.9, 600

2000 Rs.12, 800

        2001 Rs.10, 000

Prepare Bhoomi’s Captial Account and Bhoomi’s executor account after the above adjustment on the death of Bhoomi.                           (6)

15. Ketan and Kartik share profits equally. Their balance sheet as on 31st march 2007 is as follows-;

                     Balance Sheet as on 31st march, 2007

	Laibilties
	Amounts
	Assets
	Amounts

	Captial:

Ketan          60,000

Kartik         60,000
	1,20,000
	Cash
	2,000

	General Reserve
	40,000
	Debtors            40,000

Less.prov           3,000
	37,000

	Creditors
	15,000
	Stock
	53,000

	Bills payable
	5,000
	Patents
	10,000

	----------------------------
	--------
	Machine
	78,000

	
	1,80,000
	
	1,80,000


They admitted Kanchan on the above date and their new ratio was 4:3:3. Kanchan to bring in such an amount of cash that would make his net capital to 1/4th of the total capital of the firm.The goodwill of the firm is Rs.50,000. Kanchan is not paying anything as goodwill.Others terms of admission are as follows:-

1. Patents are worth Rs.6,000 and Machine is to be depreciated by 10%.

2. It is proposed to increase the provision for doubtful debts by Rs.1, 000.

3. Stock is valued at Rs.60, 000

Prepare necessary ledger Accounts and Balance sheet after admission.                                                                          (6)

Or

Rishi, Resham and Rinkoo shared profits as 6:3:1.Their Balance sheet as on 31st march, 2007 was as follows:

                        Balance Sheet as on 31st march, 2007

	Laibilties
	Amounts
	Assets
	Amounts

	Captial:

Rishi               30,000

Resham           40,000

Rinkoo             60,000
	1,30,000
	Debtors                 30,000

Less.Prov.               2,000
	28,000

	Creditors
	25,000
	Cash at bank
	8,000

	General Reseve
	15,000
	Stock
	64,000

	
	
	Plant
	60,000

	
	
	Goodwill
	10,000

	
	1,70,000
	
	1,70,000


Rishi retires on the above date when the goodwill of the firm was valued at Rs.45, 000. Others terms of retirement were as follows:-

1. Plant will be depreciated at 10%.

2. Stock is valued at Rs.70, 000

3. A provision is to be made for Rs.800 fro-medical claims of employees.

4. Total capital of the new firm will be fixed at Rs.1, 50,000 and it is to be in the new profit sharing ratio which is equal between Resham and Rinkoo.Necessary cash is to be brought in or taken away by the partners.

5. Rishi is to be paid Rs.25, 000 and balance to be transferred to his loan Account.

Prepare necessary ledger accounts and Balance sheet after retirement.                                                                         (8)

16.A Company issued for public subscription 40,000 equity shares of Rs.10 each at a premium of Rs.2 per share payable as under:

          On Application     Rs.2 per share

          On Allotment       Rs.5 per share  (including premium)

          On Ist and final call   Rs.5 per share

Applications were received for 60,000 shares. Allotment was made on pro rata basis to all applicants. Money overpaid on application was applied towards sum due on allotment. A to whom 1,000 shares were allotted, failed to pay the allotment and call money. B to whom 2,000 shares were allotted failed to pay the final call. The shares of A and B were subsequently forfeited after the first and final call was made

2, 000 of the forfeited shares were reissued @Rs.8 per share as fully paid. The reissued shares included all of A’s shares.

Pass necessary journal entries in the books of the company to record the above transactions.  

                                        OR                                                 (8)

A limited company invites applications for 50,000 equity shares of Rs.10 each payable as follows:

On Application        Rs.3/-

On Allotment           Rs.4/-

On First call             Rs.2/-

On Final call           the balance

Applications were received for 55,000 shares. Allotment were made on the following basis:

(i) To applicants for 35,000 shares----------- in full.

(ii) To applicants for 20,000 shares ------- 15,000 shares.

Excess money paid on application was utilized towards allotment money.

A shareholder who was allotted, 1,500 shares out of the group applying for 20,000 shares failed to pay allotment money and money due on calls. These shares were forfeited. 1,000 forfeited shares were reissued as fully paid on receipt of Rs.8 per share.

Show the journal entries in the books of the company.

Part A(Analysis of Financial statements)

17.Name the head under which underwriting expenses will come.(1) 

18.State one uses of financial analysis.                                  (1)

19.State the effect on current ratio (increase, decrease or no effect) for a bill payable accepted from creditors.               (1)

20. State three limitations of financial statement analysis.  (3)

21.Prepare Comparative Income statement from the following information’s for the year ended March 31,2006 and 2007.  (4)

	Particulars
	2006(Rs)
	2007(Rs)

	Gross Sales
	14,00,000
	12,00,000

	Sales return
	14,000
	10,000

	Cost of goods sold
	10,50,000
	8,70,000

	Administrative, selling and distribution expenses
	40,000
	50,000

	Tax provision
	50%
	50%


22.(a) calculate EPS from the following information’s.           (2)

(i) Earning before tax        Rs.1, 50,00,000

(ii) Tax rate                                    20%

(iii) 15% dividend on preference share capital of Rs.2, 00,00,000.

(iv) Equity share capital – 2,00,000 share of Rs.10 each full paid

      (b) From the following in formations determine opening stock and closing stock.

           Stock turnover ratio 5times

           Total sales Rs.2, 00,000

            Gross profit ratio 25%

            Closing stock is more by Rs.4, 000 than the opening stock.   (2)

23.Prepare a cash flow statement from the following information of Kesha Ltd for the year-ended march 31,2007.                              (6)

Balance sheet of Kesha Ltd as on 31st march 2007

	Liabilities
	2006
	2007
	Assets
	2006
	2007

	Share capital
	3,00,000
	4,00,000
	Goodwill
	70,000
	30,000

	P&L a/c
	1,20,000
	2,60,000
	Machinery (cost)
	3,00,000
	3,20,000

	General reserve
	60,000
	95,000
	8% investment
	1,50,000
	3,00,000

	Tax provision
	70,000
	80,000
	Stock
	35,000
	1,85,000

	Creditors
	50,000
	90,000
	Debtors
	50,000
	70,000

	Bills payable
	30,000
	10,000
	Cash at bank
	30,000
	40,000

	Depreciation provision
	25,000
	40,000
	Short term investments
	20,000
	30,000

	
	6,55,000
	9,75,000
	
	6,55,000
	9,75,000


Additional Information’s

Investments costing Rs.50, 000 were sold for Rs.48, 000 during the year.

Tax paid during the year Rs.70, 000.

